Embedded Figures

QUESTIONS
Direction (1 - 9): Spot out one figure from the four alternatives in which the given Fig. (X) is embedded as one of its part.
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Direction (10-21): In each of these questions, trace out the suitable alternative to fit into the blank space in Fig. (X) in order
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to complete the pattern.
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22. Select a figure from the options, which when placed in the blank space of Fig. (X) would complete the pattern.

(SOF NCO 2016)
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Select the figure from the options in which Fig. (X) is exactly embedded as one of its part.
(SOF NSO 2016)
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Select a figure from the options which when placed in the blank space of Fig. (X) would complete the pattern.
(SOF IMO 2016)
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In which of the following options. Fig. (X) is exactly embedded as one of its part?
(SOF IMO 2016)
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Select a figure from the options which is exactly embedded in Fig. (X) as one of its parts.

(SOF NCO 2017)
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Which of the following figures will complete the pattern given in Fig. (X)?
(SOF NCO 2017)
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28. In which of the following figures. Fig. (X) is exactly embedded as one of its parts?
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29. Select a figure from the options, which when placed in the blank space of Fig. (X) would complete the pattern.
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30. Which of the following figures is exactly embedded in Fig. (X) as one of its parts?

(SOF IMO 2017)
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EXPLANATIONS
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